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ALGEBRA 1
1. Simplify: —4*+501-7)*

a) ~560 b) -396 c) 164 d) 196 e) 756
2. Multiply: (4x—1)(2x+3) |

a) 8x*-3 b)) 6x*~2x~4 ¢) 6x°+10x-3 d) 8x*+10x-3 e) 15x°

3. Find the slope and the y-intercept of the equation 5x -3y =-9.

a) m:mE b=3
3

b) m:-—5— b=-3
3

c) mmé b=3
3

d) m:g b=-3
3

e) m:E b=-3
5

4. If two lines are perpendicular, and one of the lines has a slope of — % , then the slope of the

other line is

3 2 2 3
a) —E‘ . b) “E C) 5 d) T’Z,_ e) 1

5. Electrical resistance is directly proportional to length. If 100 feet of wire has an electrical
resistance of 7.3 ohms, find the electrical resistance of 40 feet of wire.

a) 2.86 ohms b) 2.92 ohms ¢) 3.07 ohms d} 7.3 ohms e) 1.65 ohms
6. Solve: 3x* =6x-1

+ -3+ +
2) 3“3‘/6 b) £/6 <) Z3ES ‘32‘/5 d £243 @) 2—;‘5



7. Write the equation of the line that is perpendicular to the line y =3x—2 and passes through
the point (-3, -4).

- X
a) y=——5
) ¥y 3
b) y=-3x-13
¢} y=3x+5
1
d) y=-x-3
)y 3
1
e) y=—x—4
) Y= 3

8. Write an expression that could be used to model the water remaining in a 15000-gallon
swimming pool that leaks at a rate of 4 gallons of water per hour.

a) 15000 + 4k b) %(359 c) 4h(15000) d) 15000 -4 e) %99—-11
9. Solve the inequality |2x—-8]<20.
a) x<l14 by ~14<x<14 ¢) —6<x<14 d) x<-6orx>14 e) x>-6

10. Which one of the following equations does not represent y as a function of x 7

a) 6x° +4y =8

b) 3x-5y=-30

¢y 2x+3y°=6

d) 2y=x"—8x*+10x +8
e} y=2"+3

11. The parabola y = x4 6x +4 is shifted 6 units to the right and 4 units up. Where is the
vertex now?

a) (-9,-9) b) (3,-1) c) 6,4) d (1,1) e)(-4,1)

12. A glass container in a lab contains 20 cells. If the number of cells increases 6% every hour,
how many cells are in the container 4 days later?

a) 115 b) 606 c) 4847 d) 5375 e) 480



13. Solve forx; §* = L

7 7 64 |
fona QR b = = — d ::64 _
a) x ; ) x e ¢) X 3 ) x e) %)

14. One shopper bought 2 loaves of bread and 6 cans of tuna for $7.58. A different shopper
bought 3 loaves of bread and 8 cans of tuna for $10.48. What is the cost of five loaves of bread
and four cans of tuna?

a)$9.01 b) $812 - c) $845 d) $7.57 e) $9.16

15. An auditorium has 54 seats in the first row, 58 seats in the second row, 62 seats in the third
row, and so on. Find the number of seats in the 20" row.

a) 126 by 134 ¢) 130 dy 138 ¢) 142

16. The length of a rectangular piece of carpet is 2 meters less than 5 times its width. The area of
the carpet is 16 square meters. What is the length of the carpet in meters?

a) 6 b) 8 c) 10 d) 12 e) 4

17. The maximum point of the parabola y = ~2x? +8x~14 is

a) {~2,-38) b) (-2,-6) c) (2,-6) d) (2-38) ) (2,38)

Use the graph to the right to answer the next question. Each axes has a scale of 1.
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19. The equation x* +x* = x* is
a) true for all b) false forall c¢) true for one d) true for three e) true for four

real number real numbers real number real numbers real numbers



20. The domain of the function f(x) = mzzxsm% includes all real numbers except which of the

following?
a) 0 b) 4 c) 2and 3 d) -2 and -3 e) Sand 6
21. Solve forx: +/2x—4-7=-3
a) x=4 b) x=10 c) x=31 d)y x=52 e) x=065
11
m_.+.__
22. Suppose we define aQ b as aI Ib . Find 2Q3.
a b
5 1 1 |
s by — — d)y 5 e) —
Y 36 a 95 ) i
23. Find X in the following right triangle : 26
10 X
a) 14 b) 16 c) V476 - d) 26 e) 695

24. Find the slope of the line that passes through the points (x, x2) and ((x +2), (x+ Z)QJ.

xP+2x+2

a) —— by 2x+2 ) x+2 d 2 e) 1
x+1
25. Which is a solution to the equation i—xx+6?
x+1 4x
2 3
a) x=-3 b) x=0 c) xmg d) x=3 e) xx-—z—

26. If two sides of a right triangle measure12 and 13, the third side could be

a) 5 b) 14 c) 25 d) 313 e) 11



x -1 x*+4x+3
27. Simplify: +
P x2-90 x*—4x+3

2
2 b) 1 c) U }‘)2 d)
9 (x+ 3)
3. -4a\72
28. Simplify: (222} ]
N _4ymzzs b) ylezzs 9 _4yBZ10
x’ 4x°. x°

29. Express the area of the shaded region as a polynomial.

If the polynomial is factored completely,
one of the factors is:

a) 3+2x by 3-4x ¢) 3—x

30. A projectile is fired straight up from the ground with an initial velocity of 80 feet per second.
Tts height s(r) in feet at any time ¢ is given by the function s(1) = —161* + 801,

2

(x+l)

(x-3)

e)

X

(x=3)x-1)

d) 4x-3

e) 2x—3

find the length of time for which the height of the projectile is greater than 96 feet.

b) 2 seconds ¢) 3 seconds

a) 1 second

31. Find the missing table value that will make this function linear.

X Y
a 13
a+?2 7
a+6 ?

a) -5 b 1 ) 4

13

d) 4 seconds e) S seconds



32. Troy began a stamp collection with 10 stamps. After 5 months he had 135 stamps and after 3
years he had 910 stamps. If he continues to collect stamps at this rate how many stamps will he
have in 10 years?

ay 270 by 3000 ¢) 3010 d) 3240 e) 3260
33.IF F(x) = 3x + 1 and G(x) =2 | x | + 3, and, G(F(-1)) =
a) -5 b) -1 c) 11 d) 16 e) 7

34. The graph below can be described with which equation?

Tl

a) 3x-2y<6 b) 2x+3yS6 c¢) 2x-3y=-6 d) 3x+2y2-6 ) 4x+5y<20

.r-ar[nﬂ'rr’-

W

35. On the interval 0<x <1, arrange these functions in order largest to smallest fx)=x

g(x)=x* h(x)= x% Jixy=2"

a) x,x%,xz,Z”
b) 2",x%,x, x°
¢) x%,x,xz,Zx
d) 2x,x2,x%,x

1
e) 2‘,xA,x, x*

36. Given: 23x+5 =4 b , Find the values for a and b.
X +5x+6 x+2 x+3

ay a=3,b=3

b) a=1,b=2

¢) a=Lb=1

d) a=2,b=3

¢} a=-1,b=4



3x2+2
5

37. Find the inverse function for y = ,x20

a) —-i.}i
YT,

5
b) v=
)y 3xt+2

3x*+2
o

5x-2
d =+t
)y 3

J15x-6

3

e) y=

38. Simplify: ’1‘ (x0)

1

a) 1 b) - c) 1+— d) -1—+-—;
x X

. . 2x+l
39. Simplify: T

2.1'
a) é—(l»%ij b) x c) ! dy 2 e) 2

X 2x+l

40. Solve the equation for x. rx* +sx+1=0, r#0

4 51 ~stAls*—4rt
a) x=—1, [ d) x=—2r .
r 2r 2r
22 o
by x=tx,[l=2 e) x=t |2t
4 t r
c) x== !

r+s

e) X



